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Tahle 1 shows tire taken by specimen o fail under fatigue test,

Tahle 1
Time of failure | Number of
I {hours) specimen
<10 ! ' T e
10-19 2 b LT B iu.- i)
_20-29 3 o S '
30 - 49 9 s
) - 59 2y 24 EE'
100 - 149 TE ¢ * 2
150 - 199 11 &3 &L
200 - 299 13 EC
300 - 399 8 ta ,_( FIRSSr o
et
4000 - 459 5 3
> 500 7 R = R e
Calculate the coefficient of variability for the data in table 1. (10 marks)
O\
Drraw the ogive curve of the data fmq@%um‘lin: the median and the quartile deviation.
O (T marks)
M
Determine the median of thz{:@ia"'hy calowlation and compare with (b). (3 marks)
S
In a public speaking cce‘l_;)ﬁn two judges awarded marks to the competitors as shown in
table 2.
Table 2
Competitor 1 2 3 4 5 6 T B 9 10
e E P EE DRI RN
Judge B B[ 2|2y |u]p|u]|zs|n
Use the rank cormelation test to determine whether the judges’ opinions were consistent.
} - _';—-—-1'-""":" {7 marks)
rln=1/

Postponement of football matches during a season for a 16 team league was found to
follow o poisson distribution. The chance of having 3 matches being postponed in a
scason i8 0.0892, Caleulate the probability that:

(i)  no matches are postponed during the season;

(i) 6 matches arc postponed during the season.
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= ta}  The lengths of bolts produced in & certain factory is normally distributed
The lengths of 15 39% of the bolts are more than 12 1% em, while the lengths of 3.44%

of the bolts are less than 8.63 cm y= op
v
(i) Calculate the mean length of bolts and the slnﬂ:lan.i deviation {7 marks)
(11) If' 75% of bolts have the correct length required, caleulate the minimum length
required. {4 marks)

(b} 1t bas been found that 30% of wells in & county have salty water If a random sample of
five wells are selected from the county, calculate the probability that

{i) exactly three are salty,
(i1}  atleast three are salty;

(iii)  expected number of wells with salty water,
{9 marks)

3 b/ The number of hours practised and the cormesponding scores made by ten randomly selected
cricket players are shown in table 3.

Table 3
‘f\

Number of practised =

St e S I J\Q@ 6 |ao | 2| 18] 8

Seares () 140 | 150 {@Q 7 | 18s | 200 | 210 | 220 | 240 | 260

(»} 3
{a)  Draw a scatter diagram fum% SCOTes, {3 marks)
(b}  Caleulate the coefficient of correfation. NExry ~ €29y {8 marks)
D

-I-’I"i‘u' - 'L-'" [RAge™ =0f o
{c) Dretermine the least square equation of y on x hence draw line on the scaﬂﬁr diagram

{7 marks)
(d)  Determine the scores when x = 0. (2 marks)
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The recommended daily wage of a typist in a certain town is Ksh 550. Results
compited from two companies located in the town are shown in table 4.

|
Table 4 uﬁﬂ‘_ j -l- P
LT
Number of typist : S
Company employed Mean daily wage | Standard deviation

A 50 450 75

B 15 S00 30
Determine whether the two companies are abiding to the recommended daily wage of
5% level of significance. (12 marks)
Explain four characieristics of a binomial distribution, {4 marks) B
State two advantages and two disadvantages of stratified sampling. {4 marks)

Explain the following terms as applied in statistics:

i1) estimalor,
{1i)  point cstimation;

(iif) interval estimation: Q
\ .
O {6 marks)
x
The time take to perform nE@ulm task, t hours, has a probability of density function
given by \\\
v’) t
10et* @1 <0.6
flitl=1%(1-t) 06=t=10
¥ otherpise

where ¢ 1s a constant.

(1) Determine the value of e,

(i1}  Sketch the graph of this distribution.
() Determine the most likely time.

{iv)  Calculate the median.
{ 14 marks)




B wm

|
(b}

-
-c)
J

B (a)

/
\ ()
2405/303

(oMo 2008

Two similar bags, A and B, contain balls. Bag A contans B green balls and 5 whike
balls. Bag B contains 4 green balls and 11 black balls.  The bags are arranged such that
probability of picking bag B is 5. A smdent is 1o pick a ball from either bag. If he
picks a green ball he is awarded 100/~

Calculate the probability that:

(1) the student is awarded 100/=

(i)  the student is awarded 100/~ when she picked the green ball from bag A,
{11 marks)

For the sample data 2, 8, 10, 15, 20, 23, 34, caleulate first moment, firit moment and

second moment about 16, and explain each value, (6 marks)
State the advantages of a pictograph as a method of statistical presentation. (3 marks)
The 10 of fifty students in a college are given in table 5.
Table 5
10 Score Freguency
71- %0 e
D
g1 - G0 6 <:/ ..::
94 - 100 JAZ7 R
101 - 110 NF
11-120 1Y &
121 - 130 5
131 - 140 2
{i} Given that the miean of the 1Q scores 15 103.7, calculate value of x.
(i)  Caleulate the 80" percentile and 6™ decile.
(11 marks)

A random sample of 300 students 1aking a Physics course at a college was conducted.
170 of the students prefer the Physics final paper be optional. Calcalate the 95%
confidence interval for the frue proportion of Physics students who want the Physics

tinal paper 1o be optional. -
- Y SALC

- 1 Hy H = (9 marks)
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